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The process of seed germination starts with:

a. Imbibation b. Diffusion

¢. Osmosis d. None

Total ATP outpul after complete oxidation of glucose molecule through ETS:
a8 b. 34

c 38 d. 12

Warburg effect is related to:

a. Carbon dioxide b. Light

c. Oxygen d. Waler

Which of the following does not have sulphuric acid groups?

a. Heparin b. Kerato sulfate

¢. Hyaluronic acid d. Chondroitin sulfate
Which of the following has reducing properties?

a. Gluconic acid b. Glucuronic acid

¢. Glucaric acid d. Mucic acid

Pulses are deficient in:

a. Lysine b. Threonine

¢. Methionine d. Tryptophan

Thermal denaturation of protein involves: } ;

a. Conformational change in the protein  b. Covalent modification of certain amino
acids

¢. Random cleavage of the peptide bonds d. Increase in its isoelectric point

When you boil an egg, you convert the albumin into a white solid mass. In chemical

terms you would say that:

a. The protein was dehydrated by heat b. The protein was cross-linked by heat

¢. The protein was denatured by heat d. The protein was degraded by heat

Magnesium deficiency causes

a. Interveinal

.............. chlorosis of the leaves.
b. Marginal

¢. Vienal d. Bothaandb
Calcium is an important component of.............

a. Secondary cell wall b. Primary cell wall
¢. Middle lamella d. All of the above
Element essential for the photolysis of water is:

a. Chlorine b. Carbon

¢. Oxygen d. Manganese

The immediate precursor of chlorophyll a is:

a. Protochlorophyll b. Protoporphyrin
¢. Chlorophyllide a d. None

The main limiting factor which limits the rate of photosynthesis on a clear day is:
a. Light b. Carbon dioxide
¢. Chlorophyll d. None
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Write short notes on: %
a) Classification of enzyme with

b) Active site of enzyme
¢) Phospholipid

Werite the production of ATP in 1
Werite the difference between C3 an
Physiological effect of Auxin and it:
Discuss about the physiologi

in leguminous plants. Discuss
Nitrogen fixation. ;
a) Justify that photorespiration is
b) Justify that Plants whe
photosynthesis decre,
¢) Write the Physiolo,
d) Write the deficien

What is seed dormancy




